THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

MEETING OF THE BOARD OF EDUCATION AUGUST 22, 2018

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on August 22, 2018 at 6:30 p.m.

Members present:	William F. Connors Jr., President Deanna Bavlnka, Trustee Inger Germano, Trustee Jeffrey Kerman, Trustee Jonathan Kornreich, Trustee Angelique Ragolia, Trustee				
Members absent:	Irene Gische, Vice Presid	dent			
Also present:	Kevin Scanlon, Assistant	It Superintendent for Business Services t Superintendent for Educational Services It Superintendent for Human Resources			
CALL TO ORDER	Mr. Connors called the n	neeting to order at 6:33 p.m.			
MOVE INTO EXECUTIVE SESSION		an, seconded by Ms. Ragolia, and carried by a 6-0-0 vote, the Board Executive Session in accordance with Open Meeting Law to discuss of a particular person(s).			
RECONVENE INTO PUBLIC SESSION	The meeting reconvened into open session at 7:38 p.m. Mrs. Pedisich led the pledge of allegiance.				
CHANGES IN THE MEETING	Replacement Pages:				
AGENDA	Item K.1 – Instructional Personnel – Schedules A.6 and A.9				
STAFF RECOGNITION	Staff members who earned the EMT Certification were recognized.				
PUBLIC PARTICIPATION	There was no Public Participation at this time.				
MINUTES					
Minutes of July 11, 2018	On motion by Dr. Kerma approved the resolution a	an, seconded by Ms. Germano, and carried by a 6-0-0 vote, the Board as presented.			
INFORMATION ITEMS TO THE BOARD					
Policy – Information First Reading	Be it RESOLVED that the and adopt the Policies as	ne Board of Education accept the following Policies delineated below final:			
	Policy #	Policy Title			
1100-R – Public Information	1100-R	Public Information Program Regulation			
Program	2250 4521 E 2	Board Committees			
Regulation, 2250 – Board Committees,	4531-E.3 4772	Field Trip Permission Form Graduation Ceremonies			
4531.E-3 – Field	5300.27	Gang-Related Activity and Affiliation			
Trip Permission Form, 4772 –	5420 8505	Student Health Services Charging School Meals and Prohibition Against Shaming			
Graduation	9700	Charging School Meals and Prohibition Against Shaming Staff Development			
Ceremonies, 5300.27 – Gang- Related Activity and Affiliation, 5420 – Student Health Services, 8505 – Charging School Meals and	9700 Staff Development On motion by Ms. Germano, seconded by Ms. Bavlnka, and carried by a 6-0-0 vote, the Board approved the resolution.				
Prohibition Against Shaming, 9700 – Staff Development					

There were no Items for Board Discussion.

ITEMS FOR BOARD DISCUSSION

ITEMS FOR BOARD ACTION

Acceptance of Policy 2018-2019 Be it RESOLVED that the Board of Education accept the following Policy delineated below, as revised on August 22, 2018:

Policy #	Policy Title
5300	Code of Conduct

On motion by Ms. Germano, seconded by Ms. Bavlnka, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approval of Special Education Tuition Contracts Upon recommendation of the Superintendent of Schools be it resolved that the Board of Education approve the contract for instruction/services to be provided by the schools listed below to Three Village Central School District students for the 2018-2019 school year.

- AHRC Suffolk
- The Center for Discovery
- The Center for Developmental Disabilities
- DDI Developmental Disabilities Institute
- Green Chimneys
- Harmony Heights
- Maryhaven Center of Hope
- SCO Family of Services Westbrook Preparatory School
- Summit School
- UCP of Ulster County
- Henry Viscardi School
- The Charlton School

On motion by Ms. Germano, seconded by Ms. Ragolia, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approval of Upon recommendation of the Superintendent of Schools be it resolved that the Board of extension of Education approve the extension of Consultant Services Contract for special educational services for the 2018-2019 school year with the following provider: Contract with **Outside Service** Provider for • Lime Interpreting, LLC Special Educational On motion by Ms. Ragolia, seconded by Ms. .Germano, and carried by a 5-0-1 vote, with Dr. Services Kerman abstaining, the Board approved the resolution as presented. Acceptance of Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Donations Board of Education accept with gratitude the following: A check in the amount of \$100.00 donated from Ms. Janet Von Bargen to the Jody Eff Scholarship Fund. On motion by Ms. Germano, seconded by Ms. Ragolia, and carried by a 6-0-0 vote, the Board approved the resolution as presented. Declaration of Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Surplus items listed below be declared surplus and disposed of in the best interest of the Three Equipment Village Central School District. Item Description Model Serial # Three Village # Condition Location NC-PPS Epson Scanner GTS80 L312004828 01666513 Poor Workforce Epson Scanner GTS80 L3J2004917 01666514 Poor Murphy-AP's Office Workforce Murphy-Library GT-S80 L3JZ006886 01668539 Epson Scanner Poor (back room) GTS80 Epson Scanner L3JZ004936 01666512 Gelinas-Science Poor Workforce Office

L3JZ004824

01666515

Poor

WMHS-Library

Conf. room

GTS80

Workforce

Epson Scanner

Epson Scanner	GT-S80	L3JZ008158	01668537	Poor	WMHS-Library Conf. room
Victory 3-Door Refrigerator	N/A	N/A	20081051	Poor	Murphy
Autoclave	Ritter 1250	570075	001201	Poor	WMHS-Room 519
Fuji Film Pro 36	Por36	81200177	20110830	Poor	Nassakeag-Copy Room
RCA Colortrak Plus TV	F36673ET	8224441192	N/A	Poor	Minnesauke- Portable

On motion by Dr. Kerman, seconded by Ms. Bavlnka, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Textbooks Upon the recommendation of the Superintendent of Schools, be it resolved that the books listed below be declared surplus and disposed of in the best interest of the Three Village Central School District. The books listed below are outdated and no longer in use.

Title	Publisher/ Date of Publication	<u>ISBN</u>	<u>No. of</u> Copies
The American Nation	Publication Pearson 2003	0-13-052954-0	115-Gelinas
World Civilizations-The Global Experience	Pearson 2003	0-321-19-447-0	75-Gelinas
World Civilizations-The Global Experience	Pearson 2011	0-205-65956-X	125-Gelinas
The American Nation	Pearson 2003	0-13-052954-0	115-Murphy
World Civilizations-The Global Experience	Pearson 2003	0-321-19-447-0	75-Murphy
World Civilizations-The Global Experience	Pearson 2011	0-205-65956-X	100-Murphy
World Civilizations-The Global Experience	Pearson 2011	0-205-65956-X	150-WMHS

On motion by Ms. Germano, seconded by Ms. Ragolia, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Be it RESOLVED, that upon the recommendation of the Superintendent of Schools, the Memorandum of Agreement between the Board of Education, Three Village Central School District and the Three Village Cafeteria Unit, UPSEU, modifying the CBA to add the stipend for "Head Cook" to Appendix A, and the salary schedule for "Head Cook" on Appendix B, is hereby approved; and the Board President is authorized to execute the same.

On motion by Ms. Germano, seconded by Dr. Kerman, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Be it RESOLVED that upon the recommendation of the Superintendent of Schools, the Contract of Agreement between Confidential Clerical, Margaret Koepplin and the Board of Education be approved.

On motion by Ms. Ragolia, seconded by Ms. Bavlnka, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Personnel Matters

Instructional

Contract of

Margaret

Keoppelin

Agreement -

Approval of

Agreement

Memorandum of

between the Three Village Central

School District and the Three

Village Cafeteria

Unit, UPSEU, for Addition of "Head Cook" Salary Schedule and Stipend

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

RETIREMENT

<u>Name</u> Stursberg, Cathleen <u>School/ Assignment</u> Gelinas JHS/ Teaching Assistant

Effective Date 8/31/18 Date of Hire 2/13/02

	TLDFTOT WITTOT							
<u>Name</u> DiBernardo, Tara McNamara, Laura	<u>School/ Assignment</u> WMHS/Teaching Assistant Gelinas JHS/ Mathematics Chairperson	<u>Effective Da</u> 8/29/18 7/31/18	8/3	<u>e of Hire</u> 1/11 6/03				
	LEAVES OF ABS	ENCE						
<u>Name</u> O'Leary, Abigail Oliver, Vincent Preston, Kimberly	<u>School/ Assignment</u> Setauket/ Teaching Assistant Murphy JHS/ Teaching Assistant WMHS/ ASL Teacher	Effective 2018- 2019 2018- 2019 8/30/18 – 1/31/19	Reason Unpaid Unpaid Unpaid	<u>Tenured</u> No Yes Yes				
APPOINTMENT TO INSTRUCTIONAL POSITIONS								
Allgor, Kimberly	Teaching Assistant St. Joseph's Colleg Previous Tenure –	ge – BA						

RESIGNATIONS

This is a four-year probationary appointment with an anticipated tenure date of 8/30/22. This appointment is due to increase in consult teacher direct program. Ms. Allgor will be assigned to Nassakeag Elementary School for the 2018-19 school year. Fingerprint clearance for employment has been received.

Effective: 8/30/18

Cordina, Jacqueline

A

Mathematics Teacher St. Joseph's College – BA SUNY Stony Brook – MA Previous Tenure – No Related to current employee – Yes Salary: Step/Level: 5/MA Effective: 8/30/18

Related to current employee – No Salary: Step 1/Level III - \$29,205

This is a four-year probationary appointment with an anticipated tenure date of 8/30/22. This appointment is due to the resignation of Laura McNamara. Ms. Cordina is the sister-in-law of Catia Napolitano, a reading teacher at Mount Elementary School. Ms. Cordina will be assigned to Gelinas Junior High School for the 2018-19 school year. Fingerprint clearance for employment has been received.

Damico, Tina

Teaching Assistant Dowling College – BA Previous Tenure – No Related to current employee – No Salary Step 1/Level 1 - \$24,344 Effective: 8/30/18

This is a four-year probationary appointment with an anticipated tenure date of 8/30/22. This appointment is due to CSE Recommendation. Ms. Damico will be assigned to Minnesauke Elementary School for the 2018-19 school year. Ms. Damico is currently working in the District and fingerprint clearance for employment is on file.

DiBernardo, Tara

Health/Physical Education Teacher Hofstra University – BS Previous Tenure – No Related to current employee – No Salary: Step/Level – 2/BA+15 Effective: 8/30/18

This is a four-year probationary appointment with an anticipated tenure date of 8/30/22. This appointment is due to enrollment growth. Ms. DiBernardo was previously approved at the Board of Education meeting held on July 11, 2018 as a one-year, part-time (.8) PE/Heath teacher. Ms. DiBernardo will be assigned (.4) Minnesauke/(.4) Three Village Academy/.1 Gelinas/.1 travel for the 2018-19 school year. Ms. DiBernardo is currently working in the district and fingerprint clearance for employment is on file.

Dwyer, Rachel

Teaching Assistant Dowling College – BA, MS Previous Tenure – No Related to current employee – No

Salary Step 1/Level III - \$29,205 Effective: 8/30/18

This is a four-year probationary appointment with an anticipated tenure date of 8/30/22. This appointment is due to IG Program enrollment growth... Ms. Dwyer will be assigned to Nassakeag Elementary School for the 2018-19 school year. Fingerprint clearance for employment has been received.

Garzilli, Tara

Teaching Assistant Suffolk Community College – AA Previous Tenure – No Related to current employee – No Salary: Step 1/Level I - \$24,344 Effective: 8/30/18

This is a four-year probationary appointment with an anticipated tenure date of 8/30/22. This appointment is due to the resignation of Meaghan Graebner. Ms. Garzilli will be assigned to Arrowhead Elementary School for the 2018-19 school year. Ms. Garzilli is currently working in the District and fingerprint clearance for employment is on file.

Kiesel, Jennifer

Teaching Assistant Farmingdale University – AAS Previous Tenure – No Related to current employee – No Salary: Step 1/Level I - \$24,344 Effective: 8/30/18

This is a four-year probationary appointment with an anticipated tenure date of 8/30/22. This appointment is due to enrollment growth. Ms. Kiesel will be assigned to Ward Melville High School for the 2018-19 school year. Ms. Kiesel is currently working in the District, and fingerprint clearance for employment is on file.

Latman, Caroline

Music Teacher SUNY Fredonia – BM SUNY Purchase – MM Previous Tenure – No Related to current employee – No Salary Step/Level: 1/MA Effective: 8/30/18

This is a four- year probationary appointment with an anticipated tenure date of 8/30/22. This appointment is due to the retirement of Taryn Cinquemani. Ms. Latman will be assigned to Murphy Junior High School for the 2018-19 school year. Fingerprint clearance for employment has been received.

Mulvihill, Kenneth

Teaching Assistant SUNY Brockport – BS SUNY Stony Brook - MA Previous Tenure – No Related to current employee – No Salary: Step 1/Level III - \$29,205 Effective: 8/30/18

This is a four-year probationary appointment with an anticipated tenure date of 8/30/22. This appointment is due to the resignation of Tara DiBernardo. Mr. Mulvihill will be assigned to Ward Melville High School for the 2018-19 school year. Mr. Mulvihill is currently working in the District, and fingerprint clearance for employment is on file.

O'Leary, Abigail	One-year (.5) Pre-K Teacher/(.5) Teaching Assistant SUNY Cortland - BA
	Long Island University - MS
	Previous Tenure - No
	Related to current employee – Yes
	Salary Step/Level - $2/MA+15$ \$65,615 x .5 = \$32,808
	Salary Step 2 Level 3 - \$30,388 x .5 = \$15,194
	Effective – 8/30/18- 6/30/19

This is a one-year appointment effective 8/30/18 - 6/30/19. This appointment is due to prekindergarten student enrollment. Ms. O'Leary will be assigned to Nassakeag Elementary School for the 2018-2019 school year. Ms. O'Leary is currently working in the district and fingerprint clearance for employment is on file.

Reuschle, Laura

Teaching Assistant Mount St. Mary's College – BA Long Island University - MS Previous Tenure – No Related to current employee – No Salary Step 1/Level III - \$29,205 Effective: 8/30/18

This is a four-year probationary appointment with an anticipated tenure date of 8/30/22. This appointment is due to the retirement of Lisa Pryor. Ms. Reuschle will be assigned to Ward Melville High School for the 2018-19 school year. Fingerprint clearance for employment has been received.

Schwalje, Lauren

One-year, Leave Replacement English Teacher Georgetown University – BA SUNY Stony Brook – MA Previous Tenure – No Related to current employee – No Salary: Step/Level – 1/MA Effective: 8/30/18 – 6/30/19

This is a one-year, leave replacement appointment effective $\frac{8}{30}{18} - \frac{6}{30}{19}$. This appointment is due to the childcare leave of absence of Jessica Diiorio. Ms. Schwalje will be assigned to Ward Melville High School for the 2018-19 school year. Fingerprint clearance for employment has been received.

Shay, Stephanie

One-year, Leave Replacement Physical Ed Teacher University of Miami – BS Adelphi University – MA Previous Tenure – No Related to current employee – No Salary: Step/Level – 1/MA Effective: 8/30/18 – 6/30/19

This is a one-year, leave replacement appointment effective 8/30/18 - 6/30/19. This appointment is due to the leave of absence of Scott Loddigs. Ms. Shay will be assigned .8 Minnesauke/.2 Gelinas Junior High School. Fingerprint clearance for employment is on file.

Solntzeff, Christine

English Teacher St. Joseph's College – BA Dowling College – MA Previous Tenure – Yes Related to current employee - No Salary: Step/Level - 3/MA Effective: 8/30/18

This is a continuing appointment effective 8/30/18. This appointment is due to the reassignment of Michelle Hanczor. Ms. Solntzeff was excessed at the Board of Education meeting held on June 6, 2018 and is being recalled at the Board of Education meeting held on August 22, 2018. Ms. Solntzeff will be assigned (.6) at Ward Melville High School/ (.4) Three Village Academy for the 2018-2019 school year. Fingerprint clearance for employment is on file.

APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL TEACHING ASSISTANT POSITIONS

Substitute Teachers

Brewi, Ellen Fingerprint clearance has been received.

Catalano, Kelsey Ms. Catalano is also being board approved as our JV Field Hockey Coach. Fingerprint clearance has been received.

Graebner, Meaghan Ms. Graebner resigned from her TA position on 6/30/2018, and has asked to be added to our substitute teacher list. Fingerprint clearance is on file.

Lewis, Judy Ms. Lewis is currently a substitute monitor/SEA and has asked to be added to our substitute teacher list. Fingerprint clearance is on file.

Melfi, Louis Mr. Melfi is also being hired as the JV Boys Volleyball coach. Fingerprint clearance has been received.

Preston, Kimberly Fingerprint clearance is on file.

Rose, Sheri Ms. Rose was approved for emergency appointment by Ms. Pedisich on 7/12/18 to begin working. Fingerprint clearance has been received.

Trombino, Kayla Fingerprint clearance has been received.

Substitute Teaching Assistants

Gaudy, Lisa Fingerprint clearance has been received.

Sanchez, Jennifer Fingerprint clearance has been received.

Substitute Nurse

Bassani, Barbara Fingerprint clearance is on file.

Bermingham, BethAnn

Ms. Bermingham was hired as a new district nurse effective 8/30/2018. Ms. Bermingham will be working as a substitute nurse on 8/28 & 8/29 before her appointment on 8/30/18 begins. Fingerprint clearance is on file.

APPOINTMENTS TO ATHLETIC POSITIONS

<u>Last</u> <u>Name</u> Junior Hig	<u>First</u> <u>Name</u> h Coaches	<u>Building</u>	<u>Assign-</u> ment	<u>Effec-</u> tive	<u>Step</u>	<u>Year</u>	<u>Total</u> <u>Years</u>	<u>Stipend</u>	<u>Status</u>	End Date
Pulaski	Joseph	Murphy	Boys Soccer 7/8	Fall	1	1	1	\$4,901.00	In District	11/09/18
(Replacing	g Mike Jan	tzen on the 7		la.)						
Schw- alje	Lauren	Murphy	Field Hockey 7/8	Fall	1	1	1	\$4,901.00	In District	11/09/18
High Scho	ol Coache	<u>s</u>								
Catalano	Kelsey	WMHS	JV Field Hockey Asst.	Fall	1	1	1	\$6,592.00	Out of District	11/02/18
Lillis	Amy	WMHS	JV Field Hockey Head	Fall	1	1	1	\$6,592.00	Out of District	11/02/18
** Ms. Ca	talano & N	Is. Lillis wer	Coach e approved f	or emerge	ncy appo	ointment	by Ms. Pe	disich to begi	n coaching	on 8/20/18.
Melfi	Louis	WMHS	JV Boys Volleyb all	Fall	1	1	1	\$6,592.00	Out of District	10/23/18
**Mr. Me	lfi is replac	ing Ms. Wal	dvogel who	is now the				oaching on 8/2 Illeyball Coac		Thomas
Barczik w Ferretti	ho was ren Diana	noved from th WMHS	he assignmer JV Cheerlea	nt. Fall	1	1	1	\$6,592.00	Out of District	11/02/18

(Ms. Ferretti is replacing Georgia Gass on the 7/11/18 agenda.) *** Pending coaching certification approval. Supervision Rate: \$28.47 /hr prior to 6:00 p.m., \$42.71 /hr after 6:00 p.m. and on days school is closed Supervision Rate:

Scoreboard Timer: \$109.37 p. contes. All other times/scorers receive supervision pay rate

APPOINTMENTS OF CO-CURRICULAR SPONSORS

Last Name	<u>First</u> Name	<u>Building</u>	Activity	Effective	Rate	<u>Not to</u> Exceed
Contino	Linda	WMHS	Camerata	2018-2019	\$3,705.00	\$3,705.00
Hayes	Dan	WMHS	Marching Band Director	2018-2019	\$3,705.00	\$3,705.00
Meier	Brendan	Murphy	Marching Band Assistant	2018-2019	\$3,050.00	\$3,050.00
Hayes	Dan	WMHS	Director Wind Ensemble	2018-2019	\$3,705.00	\$3,705.00
Contino	Linda	WMHS	Theater Vocal Musical Director	2018-2019	\$4,125.00	\$4,125.00
Contino	Linda	WMHS	Theater Orchestra Musical Director (shared)	2018-2019	\$3,125.00	\$3,125.00
Hayes	Dan	WMHS	Theater Orchestra Musical Director (shared)	2018-2019	\$1,000.00	\$1,000.00
Contino	Linda	WMHS	Musical Production (shared)	2018-2019	\$2,062.50	\$2,062.50

Rogers	Steve	WMHS	Musical Production (shared)	2018-2019	\$2,062.50	\$2,062.50
Contino	Linda	WMHS	Ticketing/Marketing/Adve rtising (shared)	2018-2019	\$1,318.50	\$1,318.50
Rogers	Steve	WMHS	Ticketing/Marketing/Adve	2018-2019	\$1,318.50	\$1,318.50
Hein	James	WMHS	rtising (shared) Chamber Ensemble	2018-2019	\$3,705.00	\$3,705.00
Gelfer	Phil	WMHS	Chamber Orchestra	2018-2019	\$3,705.00	\$3,705.00
Chapman	Jason	WMHS	Jazz Band III	2018-2019	\$3,705.00	\$3,705.00
Hill	Jeanne	Murphy	Flagline Director	2018-2019	\$2,393.00	\$2,393.00
Ayala	Michael	WMHS	Drum Core	2018-2019	\$2,393.00	\$2,393.00
Indelicato	Nicole	Gelinas	Anime Club	2018-2019	\$762.00	\$762.00
Eisenhardt	Lori	Gelinas	Anime Club	2018-2019	\$762.00	\$762.00
*Total stipend	for both Ani	ime Co-Adviso	ors not to exceed \$1524.00			
Esser	Chris	Gelinas	Art Club	2018-2019	\$1,524.00	\$1,524.00
Rabbitt	Alisa	Gelinas	Chamber Orchestra	2018-2019	\$2,637.00	\$2,637.00
Ouzounian	Marisa	Gelinas	Community Connections Club	2018-2019	\$1,524.00	\$1,524.00
Reo	Scott	Gelinas	Creativity Club	2018-2019	\$1,524.00	\$1,524.00
Gobetz	Brianna	Gelinas	Drama Club	2018-2019	\$1,524.00	\$1,524.00
DePersio	Robert	Gelinas	Drama Club	2018-2019	\$1,524.00	\$1,524.00
Matros	Nick	Gelinas	Fluent Forever Club	2018-2019	\$1,524.00	\$1,524.00
Roarty	Karen	Gelinas	Foreign Language Club	2018-2019	\$1,524.00	\$1,524.00
Roarty	Karen	Gelinas	Foreign Language Honor	2018-2019	\$1,524.00	\$1,524.00
Matros	Nicholas	Gelinas	Society Gay/Straight Alliance	2018-2019	\$1,524.00	\$1,524.00
Stiegelmaier	Kevin	Gelinas	Greenhouse Club	2018-2019	\$1,524.00	\$1,524.00
Broadhurst	Janet	Gelinas	Home and Careers	2018-2019	\$1,524.00	\$1,524.00
Tunkel	Vincent	Gelinas	Jazz Band	2018-2019	\$2,637.00	\$2,637.00
Elliot	Doug	Gelinas	Justice - You and the Law	2018-2019	\$1,524.00	\$1,524.00
Ouzounian	Marisa	Gelinas	Key Club	2018-2019	\$1,524.00	\$1,524.00
Milillo	Mike	Gelinas	Lighting Club	2018-2019	\$1,524.00	\$1,524.00
Connelly	Nicole	Gelinas	Makers Space Club	2018-2019	\$1,524.00	\$1,524.00
Hanscom	Stanley	Gelinas	Math Team - 7th grade	2018-2019	\$2,159.00	\$2,159.00
Hanscom	Stanley	Gelinas	Math Team - 8th & 9th	2018-2019	\$2,159.00	\$2,159.00
Chase	Christine	Gelinas	grade Model U.N.	2018-2019	\$1,524.00	\$1,524.00
Sacco	Mike	Gelinas	National Art Junior Honor	2018-2019	\$1,524.00	\$1,524.00
TBA		Gelinas	Society National Junior Honor	2018-2019	\$2,159.00	\$2,159.00
	2.61		Society			
Milillo	Mike	Gelinas	Newspaper	2018-2019	\$762.00	\$762.00
Shaw	Jackie	Gelinas	Newspaper	2018-2019	\$762.00	\$762.00
-			lvisors not to exceed \$1524.00	2018 2010	\$2.505.00	¢2 505 00
Jordan	Sean	Gelinas	Orchestra Director	2018-2019	\$3,505.00	\$3,505.00
Rieckhoff	Daniel	Gelinas	Robotics/Lego	2018-2019	\$2,159.00	\$2,159.00
Broadhurst	Doug	Gelinas	Science Olympiad	2018-2019	\$1,524.00	\$1,524.00
Marotta	Chris	Gelinas	Science Olympiad Coordinator	2018-2019	\$2,637.00	\$2,637.00
Marotta	Chris	Gelinas	Science Olympiad	2018-2019	\$1,524.00	\$1,524.00
Rieckhoff	Daniel	Gelinas	Science Olympiad	2018-2019	\$1,524.00	\$1,524.00
*Total stipend	for all Scien	ce Olympiad C	Co-Advisors not to exceed \$720	9.00		
Santiago	Vicki	Gelinas	Stand Together	2018-2019	\$508.00	\$508.00
Santiago		<i>a</i>	Ctourd Transflars	2018-2019	\$508.00	\$508.00
Roberts	Pam	Gelinas	Stand Together	2010-2017	\$500.00	\$500.00

Santiago

Vicki

Student Council

2018-2019 \$4,212.00 \$4,212.00

Gelinas

Herrel	Kraig	Gelinas	Technology/Woodworking	2018-2019	\$1,524.00	\$1,524.00	
Jordan	Sean	Gelinas	Theatre Arts Director	2018-2019	\$7,314.00	\$7,314.00	
Elliot	Doug	Gelinas	Three Village Mock Trial Team	2018-2019	\$2,637.00	\$2,637.00	
DePersio	Robert	Gelinas	Vocal Vikings	2018-2019	\$2,637.00	\$2,637.00	
Jordan	Sean	Gelinas	Wind Ensemble	2018-2019	\$2,637.00	\$2,637.00	
Connelly	Nicole	Gelinas	Yearbook	2018-2019	\$2,106.00	\$2,106.00	
Palmer	Lori	Gelinas	Yearbook	2018-2019	\$2,106.00	\$2,106.00	
*Total stipend for both Yearbook Co-Advisors not to exceed \$4212.00							
Ehlers	Tim	Gelinas	Youth Literacy Club	2018-2019	\$1,524.00	\$1,524.00	

APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

Last Name	<u>First</u> Name	<u>Building</u>	<u>Assignment</u>	<u>Effective</u>	Stipend	<u>Not to</u> Exceed
Stipends						
Duca	Anne Marie	Gelinas	Lead Math Teacher (1st	2018-2019	\$2,742.00	\$2,742.00
Jantzen	Leah	Academy	year) Lead Guidance Counselor (10+ yrs)	2018-2019	\$3,424.00	\$3,424.00
Monahan	Jennifer	Gelinas	6th Class Assignment 1 Health	2018-2019	\$12,323.80	\$11,707.60
*** This stipend	is prorated f	rom 9/4/18-6/17	7/19			
Stringer	Megan	WMHS	6th Class Assignment 1 Social	2018-2019	\$13,637.70	\$12,887.91
Stelfox	Kristen	WMHS	Studies 6th Class Assignment 1 Social	2018-2019	\$6,664.50	\$6,298.47
*** These stipen	ds are prorat	ed from 9/4/18-	Studies 6/14/19			
Ambrose	Donald	WMHS	6th Class Assignment 2	9/4/18-6/14/19	\$24,647.60	\$23,292.00
			Computer Science Class			
Broadhurst	Janet	Gelinas	6th Class Assignment 2 FACS Class	9/4/18-1/25/19	\$22,687.20	\$10,776.40
Broadhurst	Janet	Gelinas	6th Class Assignment 3 FACS	1/28/19-6/17/19	\$34,030.80	\$16,164.65
Jenkins	Nancy	Gelinas	Class 6th Class Assignment 05 FACS Class	11/9/18-1/25/19	\$7,335.15	\$1,833.76
Ferraro	Virginia	Murphy	6th Class Assignment 2 FACS	9/4/18-1/25/19	\$12,964.10	\$6,157.95
** These stipend	ls are prorate	d according to the	Class he effective dates	5.		
Warren- Barbieri	Kathy	Gelinas/ Murphy	FACS Shopper for Murphy &	2018-2019	\$2,500.00	\$2,500.00
Baum	Alan	North Country	Gelinas TVSAA Mentor Program	2018-2019	1,000.00	1,000.00
Redden	Marissa	Arrowhead	Coordinator TVSAA Mentor for Rosanne	2018-2019	1,000.00	1,000.00
Rufa	Jonathon	Murphy	DiBella TVSAA Mentor for Mike	2018-2019	1,000.00	1,000.00
Vizzo	Vinny	Murphy	Jantzen TVSAA Mentor for Corinne Keane	2018-2019	1,000.00	1,000.00

Finnerty	Kevin	WMHS	TVSAA Mentor for Joanna Cadolino	2018-2019	1,000.00	1,000.00
Hurowitz	Tanya	Arrowhead	TVSAA Mentor for Sarah Kiersh	2018-2019	1,000.00	1,000.00
Pickford	Nancy	Nassakeag	TVSAA Mentor for Karen Mizell	2018-2019	1,000.00	1,000.00
Duffy	Cathy	Murphy	TVSAA Michele Hanczor	2018-2019	1,000.00	1,000.00
Vetro	Rocco	Murphy	TVSAA Ann Duca	2018-2019	1,000.00	1,000.00
Governale	Christine	WMHS	Continuing Education Site Supervisor	2018-2019	\$4,000.00	\$4,000.00

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

Last Name	<u>First</u> Name	<u>Building</u>	<u>Assignment</u>	Effective	<u>Rate</u>	<u>Hours</u>	<u>Not to</u> Exceed
Hayes	Dan	WMHS	Marching Band Camp	8/20/18- 8/22/18	\$300/day	3 Days	\$900.00
Meier	Brendan	Murphy	Chaperone Marching Band Camp	8/20/18- 8/22/18	\$300/day	3 Days	\$900.00
Hill	Jeanne	Murphy	Chaperone Marching Band Camp	8/20/18- 8/22/18	\$300/day	3 Days	\$900.00
Ayala	Michael	WMHS	Chaperone Marching Band Camp	8/20/18- 8/22/18	\$300/day	3 Days	\$900.00
Alaimo	Donna	Gelinas	Chaperone Program Coordinator	2018-2019	\$43.61 per hr	20 hrs	\$872.20
Schuchman	Pete	Gelinas	Science	2018-2019	\$43.61	15 hrs	\$654.15
Visser	Jillian	Gelinas	Awareness Science Olympiad	2018-2019	per hr \$43.61 per hr	30 hrs	\$1,308.30
Milillo	Mike	Gelinas	Sound	2018-2019	\$43.61 per hr	42 hrs	\$1,831.62
Gonzalez	Mary	Setauket	Mindful Me, Mindful You	Fall 2018/ Spring 2019	\$90/hr	20 hrs	\$1,800.00
Rubenstrunk	Deidre	North Country	Teaching Channel Support Team for Technology Integration Implementation	2018-2019	\$90/hr	15 hrs	\$1,350.00
Varacchi	Gina	Setauket	Educational Podcasts/The STEM room	Fall 2018/ Spring 2019	\$90/hr	60 hrs	\$5,400.00
Mirabella	Christine	WMHS	SAT/ACT Test Coordinator	2017-2018	\$50/hr	150 Hours	\$ 7500.00
Cochrane	Glen	MESTRACT	Aligning Curriculum to the P-12 NYS Science Standards	2018-2019	\$750.00	6	\$750.00
Hirji	Rabia	MESTRACT	Implementing Diverse Learner Strategies Support Team Using Teaching Channel Teams	2018-2019	\$45/hr	15	\$675.00
McLaughlin	Keri	MESTRACT	Implementing Diverse Learner Strategies Support Team Using Teaching Channel Teams	2018-2019	\$45/hr	15	\$675.00
Spector	Sarah	MESTRACT	Implementation Support Team using Teaching Channel Teams (NYS P-12 Science Standards)	2018-2019	\$90/hr	15	\$1,350.00

Stein	Elizabeth	MESTRACT	Implementation Support Team using Teaching Channel Teams (Safe, Secure, Supportive	2018-2019	\$90/hr	15	\$1,350.00
Brady	Ellen	MESTRACT	Environments) Working with Parents in the Special Education	Fall 2018	\$90/hr	6	\$540.00
Brophy	Leslie	MESTRACT	Community Introduction to Blended Learning and Differentiation in the Blended Learning	Fall 2018	\$45/hr	45	\$2,025.00
Conley	Greg	MESTRACT	Classroom ELLs and Sheltered Instruction	Fall 2018	\$90/hr	15	\$1,350.00
Mayr	Rebecca	MESTRACT	Technobabble and Advanced Techobabble	Fall 2018	\$90/hr	30	\$2,700.00
Pearsall	Christine	MESTRACT	ELLs and Academic English: Meeting Student's Needs with Creative, Engaging & Successful Strategies	Fall 2018	\$90/hr	15	\$1,350.00
Reilly	Kristen	MESTRACT	Let's Talk Articulation	Fall 2018	\$90/hr	15	\$1,350.00
Turri	Kim	MESTRACT	Introduction to Blended Learning and Differentiation in the Blended Learning	Fall 2018	\$45/hr	45	\$2,025.00
Vetter	Joel	MESTRACT	Classroom Professional	Fall 2018	\$90/hr	3	\$270.00
NYSUT		MESTRACT	Preparedness 5 Seminars	Fall 2018	\$800/se	15	\$4,000.00
ELT The Inventery, Inc.		MESTRACT	Makerspace Series: Introduction to 3D Design & 3D printing	Fall 2018	minar \$1,000.0 0	6	\$1,000.00
Matters of the Heart and Mind		MESTRACT	Balance the Mind & Heart Creating Resilient Schools that Address the Social, Emotional, Ethical and Academic	Fall 2018	\$90/hr	15	\$1,350.00
Brophy	Leslie	MESTRACT	Introduction to Blended Learning and Differentiation in the Blended Learning Classroom	Spring 2019	\$45/hr	45	\$2,025.00
Conley	Greg	MESTRACT	Ells and Sheltered Instruction	Spring 2019	\$90/hr	15	\$1,350.00
Brady	Ellen	MESTRACT	Working with Parents in the Special Education Community	Spring 2019	\$90/hr	6	\$540.00
Mayr	Rebecca	MESTRACT	Technobabble and Advanced Techobabble	Spring 2019	\$90/hr	30	\$2,700.00
Reilly	Kristen	MESTRACT	Let's Talk Articulation	Spring 2019	\$90/hr	15	\$1,350.00
Pearsall	Christine	MESTRACT	Ells and Academic English: Meeting Student's Needs with Creative, Engaging & Successful Strategies	Spring 2019	\$90/hr	15	\$1,350.00

Turri	Kim	MESTRACT	Introduction to Blended Learning and Differentiation in the Blended Introduction to Blended Learning Classroom	Spring 2019	\$45/hr	45	\$2,025.00
Vetter	Joel	MESTRACT	Professional Preparedness	Spring 2019	\$90/hr	3	\$270.00
NYSUT ELT		MESTRACT	5 Seminars	Spring 2019	\$800/se minar	15	\$4,000.00
The Inventery, Inc.		MESTRACT	Makerspace Series: Introduction to 3D Design & 3D printing	Spring 2019	\$1,000	6	\$1,000
Matters of the Heart and Mind		MESTRACT	Balance the Mind & Heart Creating Resilient Schools that Address the Social, Emotional, Ethical and	Spring 2019	\$90/hr	15	\$1,350.00

APPOINTMENTS OF SUMMER ASSIGNMENTS

Academic

Last Name	<u>First</u> <u>Name</u>	<u>Building</u>	Assignment	<u>Effective</u>	<u>Rate</u>	<u>Hours</u>	<u>Not to</u> Exceed
Buys	Megan	WMHS	Summer Algebra 2/Trig Prep Course	7/23/18- 8/23/18	\$56.75/hr	8 Hours	\$454.00
Lynch	Kristen	WMHS	Summer Algebra 2/Trig	7/23/18- 8/23/18	\$56.75/hr	8 Hours	\$454.00

Prep Course ***This is a correction to the rate of pay that was previously board approved. approved.

Cereola	Vincent	WMHS	Summer Work - ELA	July/August 2018	Daily Contracted Rate	2 Days
Kula	Marnie	WMHS	Summer Work - Science	July/August 2018	Daily Contracted Rate	2 Days

*** These days are in addition to what was previously board recommended on 6/20/2018.

Burdette	Nicole	Mount	Bookroom Summer	July/August 2018	\$49.07/hr	20 hrs	\$981.40
Konczynin	Allyson	Mount	Inventory Bookroom Summer	July/August 2018	\$49.07/hr	20 hrs	\$981.40
			Inventory				
*** These ho	*** These hours are in addition to what was previously hoard recommended on 6/20/2018						

These hours are in addition to what was previously board recommended on 6/20/2018.

Zeidman	Stacey	Academy	Summer Credit Recover - Special Ed	7/1/18- 8/29/18	\$56.75/hr	20 hrs	\$1,135.00
Liguori	Christine	Academy	Summer Credit Recover - TA	7/1/18- 8/29/18	2018-2019 Contracted Hourly Rate	20 hrs	

** These hours for Ms. Zeidman and Ms. Liguori are in addition to previously board approved hours.

Cadolino	Joanne	Gelinas	Summer Work - ELA	July/August 2018	Daily Contracted Rate	3 Days	
Canestro	Andrea	WMHS	Summer Work - Math	July/August 2018	Daily Contracted Rate	5.5 Days	
Cereola	Vince	WMHS	Secondary Review of New Reading Program	8/8/18- 8/9/18	\$49.07/hr	20 Hours	\$981.40

Costello	AnnMarie	WMHS	Secondary Review of New Reading	8/8/18- 8/9/18	\$49.07/hr	20 Hours	\$981.40
Duffy	Cathy	WMHS	Program Secondary Review of New Reading	8/8/18- 8/9/18	\$49.07/hr	20 Hours	\$981.40
Hanczor	Michelle	WMHS	Program Secondary Review of New Reading Program	8/8/18- 8/9/18	\$49.07/hr	20 Hours	\$981.40
Ambrose	Donald	WMHS	Aug 2018 Regents: Rev Class, Proctor,	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Baron	Josh	RCM	Grading Aug 2018 Regents: Rev Class, Proctor,	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Bayles	Tanya	WMHS	Grading Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Borch	Kiyo	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Burger	Sue	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Buys	Megan	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Cameron	Kim	PJG	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Canestro	Andrea	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Castagna	Al	Sub	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Cereola	Vince	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Chesney	Alyssa	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Coppolla	Pat	Sub	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Crispino	Lisa	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Dillon	Christine	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Doumanis	Gus	Sub	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Drossel- meier	Theresa	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Edgar	Ginny	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Gelsomino	Lisa	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Gold	Paul	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Goldberg	MaryRose	Sub	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50

Hannifin	Danielle	WMHS	Aug 2018 Regents: Rev Class, Proctor,	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Hudson	MaryBeth	WMHS	Grading Aug 2018 Regents: Rev Class, Proctor,	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Hurley	Terri	WMHS	Grading Aug 2018 Regents: Rev Class, Proctor,	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Kowalenko	Randi	WMHS	Grading Aug 2018 Regents: Rev	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Kula	Marnie	WMHS	Class, Proctor, Grading Aug 2018 Regents: Rev	August 2018	\$56.75/hr	50 Hours	\$2,837.50
LaMonica	Maryann	WMHS	Class, Proctor, Grading Aug 2018 Regents: Rev	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Lynch	Kristin	WMHS	Class, Proctor, Grading Aug 2018 Regents: Rev	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Marra	Julie	WMHS	Class, Proctor, Grading Aug 2018 Regents: Rev	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Metrio	Jess	WMHS	Class, Proctor, Grading Aug 2018 Regents: Rev	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Morrison	Kim	WMHS	Class, Proctor, Grading Aug 2018 Regents: Rev	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Murphy	Chris	WMHS	Class, Proctor, Grading Aug 2018	August	\$56.75/hr	50	\$2,837.50
Nickerson	Carol	WMHS	Regents: Rev Class, Proctor, Grading Aug 2018	2018 August	\$56.75/hr	Hours	\$2,837.50
Oestricher	Tammy	WMHS	Regents: Rev Class, Proctor, Grading Aug 2018	2018 August	\$56.75/hr	Hours 50	\$2,837.50
Pahuja	Pam	RCM	Regents: Rev Class, Proctor, Grading Aug 2018	2018 August	\$56.75/hr	Hours	\$2,837.50
·	Jeanne		Regents: Rev Class, Proctor, Grading	2018		Hours	
Petruzzi		3VA	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Pomerantz	Linda	Sub	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Preuss	Mary Ann	Sub	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Re	Andrea	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Rickmers	Tina	WMHS	Aug 2018 Regents: Rev Class, Proctor, Grading	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Russo	Stacey	WMHS	Aug 2018 Regents: Rev Class, Proctor,	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Schraeder	Emma	Sub	Grading Aug 2018 Regents: Rev Class, Proctor,	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Sementilli	Angela	WMHS	Grading Aug 2018 Regents: Rev Class, Proctor,	August 2018	\$56.75/hr	50 Hours	\$2,837.50
Serigano	Jenny	WMHS	Grading Aug 2018 Regents: Rev Class, Proctor,	August 2018	\$56.75/hr	50 Hours	\$2,837.50

Science (JHS) Modify the program language requirement from Scratch *This assignment was BOE approved on 6/20/18. This recommendation is for additional hours as replacement project leader for Laura McNamara. These hours were emergency approved by Cheryl Pedisich, Superintendent of Schools.								
Sotzneff Christine WMHS Aug 2018 August S5:67.57hr 50 \$2,837.50 Stelfox Kristin WMHS Aug 2018 August \$5:67.57hr 50 \$2,837.50 Stuart Ryan WMHS Aug 2018 August \$5:67.57hr 50 \$2,837.50 Stuart Ryan WMHS Aug 2018 August \$5:67.57hr 50 \$2,837.50 Tam Auron WMHS August August \$5:67.57hr 50 \$2,837.50 Tam Auron WMHS August August \$5:67.57hr 50 \$2,837.50 Tarvitian Mike WMHS Aug 2018 August \$5:67.57hr 50 \$2,837.50 Tavitian Mike WMHS Aug 2018 August \$5:67.57hr 50 \$2,837.50 Tuilo Pat Sub Aug 2018 August \$5:67.57hr 50 \$2,837.50 Wegenaar Nancy WMHS Aug 2018 August \$5:67.57hr 50 \$2,837.50 Williams Louise WMHS Aug 2018 August \$5:67.57hr 50 \$2,837.50 Grading Causa, 2018 August \$5:67.57hr	Smith	William	WMHS	Regents: Rev Class, Proctor,	•	\$56.75/hr		\$2,837.50
Steliox Kristin WMHS Aug 2018 August Soft Shr 50 S2,837.50 Regents: Rev 2018 Soft Soft Hours Hours Soft Shr 50 S2,837.50 Regents: Rev 2018 Soft Soft Hours Soft Hours Soft Shr Hours S	Sotzneff	Christine	WMHS	Aug 2018 Regents: Rev Class, Proctor,		\$56.75/hr		\$2,837.50
Stuart Ryan WMHS Aug 2018 Regents: Rev August 2018 S56.75/hr source (Gas, Proctor, Grading Aug 2018 S66.75/hr August S6 S2,837.50 Tam Aaron WMHS Regents: Rev 2018 S6.75/hr Hours 50 \$2,837.50 Tavitian Mike WMHS Aug 2018 August S6.75/hr Hours 50 \$2,837.50 Tavitian Mike WMHS Aug 2018 August S6.75/hr Hours 50 \$2,837.50 Tuilio Pat Sub Aug 2018 August S6.75/hr 50 \$2,837.50 Wegenaar Nancy WMHS Aug 2018 August S6.75/hr 50 \$2,837.50 Williams Louise WMHS Aug 2018 August S6.75/hr 50 \$2,837.50 Williams Louise WMHS Aug 2018 August S6.75/hr 50 \$2,837.50 Williams Louise WMHS Aug 2018 August S6.75/hr 50 \$2,837.50 Williams Louise WMHS Aug 2018 August S6.75/hr 50 \$2,837.50 Regents: Rev 2018 S6.75/hr 50 \$2,837.50 \$2,837.50 \$2,837.50	Stelfox	Kristin	WMHS	Aug 2018 Regents: Rev Class, Proctor,	•	\$56.75/hr		\$2,837.50
Tam Auron WMHS Aug 2018 August \$56.75/hr \$0 \$2.837.50 Tavitian Mike WMHS Aug 2018 August \$56.75/hr \$0 \$2.837.50 Tavitian Mike WMHS Aug 2018 August \$56.75/hr \$0 \$2.837.50 Tavitian Mike WMHS Aug 2018 August \$56.75/hr \$0 \$2.837.50 Tullo Pat Sub Aug 2018 August \$56.75/hr \$0 \$2.837.50 Wegenaar Nancy WMHS Aug 2018 August \$56.75/hr \$0 \$2.837.50 Wegenaar Nancy WMHS Aug 2018 August \$56.75/hr \$0 \$2.837.50 Wegenaar Nancy WMHS Aug 2018 August \$56.75/hr \$0 \$2.837.50 Williams Laura WMHS Regenits: Rev 2018 August \$56.75/hr \$0 \$2.837.50 Williams Laura WMHS Science (HS) Moust \$56.75/hr \$0 \$2.837.50 Williams Laura Grading August \$56.75/hr \$0 \$2.837.50 Wegenaar Michael Gelinas Computer	Stuart	Ryan	WMHS	Aug 2018 Regents: Rev Class, Proctor,	•	\$56.75/hr		\$2,837.50
Tavitian Mike WMHS Aug 2018 August S56.75/hr 50 \$2,837.50 Tullo Pat Sub August S56.75/hr 50 \$2,837.50 Tullo Pat Sub August S56.75/hr 50 \$2,837.50 Wegenar Nancy WMHS Aug 2018 August \$56.75/hr 50 \$2,837.50 Wegenar Nancy WMHS Aug 2018 August \$56.75/hr 50 \$2,837.50 Williams Louise WMHS Aug 2018 August \$56.75/hr 50 \$2,837.50 Williams Laura WMHS Aug 2018 August \$56.75/hr 50 \$2,837.50 Williams Laura WMHS Computer 2018 \$49.07/hr \$0 \$2,837.50 Williams Laura WMHS Computer 2018-2019 \$49.07/hr \$40 ors * Smit Michael Gelinas Computer science (HS) 2018-2019 \$49.07/hr \$40 ors * Smit Michael WM Computer science (HS) 2018-2019 \$49.07/hr \$40 ors * Smit Michael Seinece (HS) Modify the program language requirement from Scratch \$50.55 hr	Tam	Aaron	WMHS	Aug 2018 Regents: Rev Class, Proctor,		\$56.75/hr		\$2,837.50
Tullo Pat Sub Aug 2018 August Regents: Rev Class, Proctor, Grading Sof. 75.hr 50 \$2,837.50 Wegenaar Nancy WMHS Aug 2018 August Aug 2018 \$56.75.hr 50 \$2,837.50 Williams Louise WMHS Aug 2018 August Aug 2018 \$56.75.hr 50 \$2,837.50 Williams Louise WMHS Aug 2018 August Class, Proctor, Grading \$56.75.hr 50 \$2,837.50 Williams Laura WMHS Aug 2018 August Class, Proctor, Grading August August \$56.75.hr 50 \$2,837.50 Williams Laura WMHS Aug 2018 August Class, Proctor, Grading August \$49.07.hr \$0 \$2,837.50 DeRosa Michael Gelinas Computer Science (JHS) Modify the program language requirement from Scratch 2018-2019 \$49.07.hr \$49.07.hr \$40.0rs * *These assignments were BOE approved at the meeting of 6/20/18. These recommendations are for additional hours. Hours * Hanscom Stanley Gelinas Computer from Scratch \$18.2019 \$49.07.hr \$40.0rs * *These assignment was BOE approved on 6/20/18. This recommendation is for additional hours as replaced in aguage requirement from Scratch \$10.Hours * \$10.Hours * <td>Tavitian</td> <td>Mike</td> <td>WMHS</td> <td>Aug 2018 Regents: Rev Class, Proctor,</td> <td></td> <td>\$56.75/hr</td> <td></td> <td>\$2,837.50</td>	Tavitian	Mike	WMHS	Aug 2018 Regents: Rev Class, Proctor,		\$56.75/hr		\$2,837.50
WegenaarNancyWMHSAug 2018 Regents: Rev Class, Proctor, Grading Grading Aug 2018August 2018\$56,75/hr Four Science Hours50 \$2,837,50WilliamsLouiseWMHSAug 2018 Aug 2018August Aug 2018\$56,75/hr50 Hours\$2,837,50 Regents: Rev 2018WilliamsLauraWMHSAug 2018 Aug 2018August Aug 2018\$56,75/hr50 Hours\$2,837,50 Regents: Rev 2018WilliamsLauraWMHSAug 2018 Aug 2018August Aug 2018\$56,75/hr50 Hours\$2,837,50 Regents: Rev 2018DeRosaMichaelGelinasComputer Science (HS) Modify the program language requirement from Scratch2018-2019 S49,07/hr\$49,07/hr2 Hours *SmitMichaelWMComputer Science (HS) Modify the program language requirement from Scratch\$49,07/hr2 Hours **These assignments were BOE approved at the meeting of 6/20/18. These recommendations are for additional hours science (HS) Modify the program language requirement requirement from Scratch\$49,07/hr4 Hours **This assignment was BOE approved on 6/20/18. This recommendation is for additional hours as replacement program language requirement from Scratch\$49,07/hr10 Hours*This assignment was BOE approved on 5/20/18. This recommendation is for additional hours as replacement program language requirement from Scratch\$49,07/hr10 Hours*UtroKoccoMurphyComputer Science (HS) Modify th	Tullo	Pat	Sub	Aug 2018 Regents: Rev Class, Proctor,		\$56.75/hr		\$2,837.50
Williams Louise WMHS Aug 2018 Aug 2018 Solar Solar Hours Solar Hours Solar Hours Solar Hours Solar Solar Hours Solar Hours Solar Hours Solar Solar Hours Solar	Wegenaar	Nancy	WMHS	Aug 2018 Regents: Rev Class, Proctor,		\$56.75/hr		\$2,837.50
WilliamsLauraWMHSAug_2018August Regents: Rev Regents: Rev 2018\$56.75/hr50 Hours\$2,837.50 HoursDeRosaMichaelGelinasComputer Science (HS) Modify the program language requirement from Scratch2018-2019\$49.07/hr2 Hours *SmitMichaelWMComputer Science (HS) 	Williams	Louise	WMHS	Aug 2018 Regents: Rev Class, Proctor,	•	\$56.75/hr		\$2,837.50
Science (JHS) Modify the program language requirement from Scratch2018-2019 \$49.07/hr\$49.07/hr2 Hours *SmitMichaelWMComputer 	Williams	Laura	WMHS	Aug 2018 Regents: Rev Class, Proctor,	•	\$56.75/hr		\$2,837.50
SmitMichaelWMComputer Science (JHS) Modify the program language requirement from Scratch2018-2019\$49.07/hr2 Hours **These assignments were BOE approved at the meeting of 6/20/18. These recommendations are for additional hours.HanscomStanleyGelinasComputer 	DeRosa	Michael	Gelinas	Science (JHS) Modify the program language requirement	2018-2019	\$49.07/hr		2 Hours *
Hanscom Stanley Gelinas Computer 2018-2019 \$49.07/hr 4 Hours * Science (JHS) Modify the program language requirement from Scratch *This assignment was BOE approved on 6/20/18. This recommendation is for additional hours as replacement project leader for Laura McNamara. These hours were emergency approved by Cheryl Pedisich, Superintendent of Schools. Dowling Sean Minnesauke Computer 2018-2019 \$49.07/hr 10 Hours Science (JHS) Modify the program language requirement from Scratch Vetro Rocco Murphy Computer 2018-2019 \$49.07/hr 10 Hours Science (JHS) Modify the program language requirement from Scratch Vetro Rocco Murphy Computer 2018-2019 \$49.07/hr 10 Hours				Computer Science (JHS) Modify the program language requirement from Scratch				
Science (JHS) Modify the program language requirement from ScratchModify the program language requirement from Scratch*This assignment was BOE approved on 6/20/18. This recommendation is for additional hours as replacement project leader for Laura McNamara. These hours were emergency approved by Cheryl Pedisich, Superintendent of Schools.10 Hours Science (JHS) Modify the program language requirement from ScratchDowlingSeanMinnesaukeComputer Science (JHS) Modify the program language requirement from Scratch2018-2019\$49.07/hr10 Hours 10 Hours Science (JHS) Modify the program language requirement from ScratchVetroRoccoMurphyComputer Science (JHS) Modify the program language requirement from Scratch\$49.07/hr10 Hours science (JHS) Modify the program language requirement	*These assig	gnments were	BOE approved a	it the meeting of 6.	/20/18. These 1	recommendation	is are for ac	ditional hours.
project leader for Laura McNamara. These hours were emergency approved by Cheryl Pedisich, Superintendent of Schools. Dowling Sean Minnesauke Computer 2018-2019 \$49.07/hr 10 Hours Science (JHS) Modify the program language requirement from Scratch Vetro Rocco Murphy Computer 2018-2019 \$49.07/hr 10 Hours Science (JHS) Modify the program language requirement from Scratch Science (JHS) Modify the program language requirement	Hanscom			Science (JHS) Modify the program language requirement from Scratch				
Science (JHS) Modify the program language requirement from Scratch Vetro Rocco Murphy Computer 2018-2019 \$49.07/hr 10 Hours Science (JHS) Modify the program language requirement	project leade	er for Laura M	cNamara.				ours as repl	acement
Vetro Rocco Murphy Computer 2018-2019 \$49.07/hr 10 Hours Science (JHS) Modify the program language requirement	Dowling	Sean	Minnesauke	Science (JHS) Modify the program language requirement	2018-2019	\$49.07/hr		10 Hours
	Vetro	Rocco	Murphy	Computer Science (JHS) Modify the program language requirement	2018-2019	\$49.07/hr		10 Hours

On motion by Ms. Germano, seconded by Ms. Ragolia, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

RETIREMENT

NameSchool/ AssignmentEffectScazpaniak, KeithMaintenance & 8/4/20Operations/Custodial Worker II	ive DateYears of Service1834 yrs. 2 mo.
---	---

RESIGNATIONS

Name	School/Assignment	<u>Effective</u> Date	<u>Length of</u> Service		
Damico, Tina	Minnesauke Elementary School/ Special Education Aide	<u>1940</u> 8/29/2018	2 yrs. 2 mos.		
**Ms. Damico is resig	gning from her SEA position due to her acce	ptance of a T	A position		
DeLaurenzo, Arlene	Setauket Elementary School/ Special	8/13/2018	4 yrs. 10 mos.		
	Education Aide				
Ericksen, Dawn	Minnesauke Elementary School/ Food	7/27/2018	5 yrs. 2 mos.		
	Service Worker Part Time				
Garzilli, Tara	Arrowhead Elementary School/ Special	8/29/2018	17 yrs. 8 mos.		
	Education Aide				
**Ms. Garzilli is resig	ning from her SEA position due to her acce	ptance of a T.	A position.		
Kiesel, Jennifer	Arrowhead Elementary School/ Special	8/11/2018	11 mos.		
	Education Aide				
**Ms. Kiesel is resigning from her SEA position due to her acceptance of a TA position.					
Olivieri, JoAnn	Arrowhead Elementary School/ Monitor	8/6/2018	7 yrs. 1 mo		
**Ms. Olivieri is resigning and has asked to added to the substitute monitor/SEA list.					
Ihne, Dawn	Arrowhead Elementary School/ SACC	9/1/2018	19 yrs. 5 mos.		
	Supervisor				

APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

Clerical

Todaro, Meryl

10 month Clerk Typist (Step 6/Level 1) Gelinas Junior High School New Position Related to current employee: Yes Annual Salary: \$35,237 Effective: 9/4/2018

Ms. Todaro is the sister-in-law to Teresa Orlando, substitute monitor/SEA in the District. Fingerprinting clearance has been received and is on file.

Food Service Worker

Deedy, Jessica

Head Cook (Step 7) Ward Melville High School New Position Related to current employee: No Salary: \$30.62/hour Annual Stipend: \$10,000 Effective: 8/23/2018

Fingerprinting clearance has been received and is on file.

Monitor/Special Education Aides

Berry, Roseann

Special Education Aide (6.5 hours/day) Ward Melville High School New Position Related to current employee: No Salary: \$14.42/hr (Step 1/Level 13) Annual Stipend: \$700 (prorated) Effective: August 30, 2018

Fingerprinting clearance has been received and is on file.

Bennett, Michaela

Special Education Aide (6.5 hours/day) Ward Melville High School New Position Related to current employee: No Salary: \$14.42/hr (Step 1/Level 13) Annual Stipend: \$700 (prorated) Effective: August 30, 2018 Fingerprinting clearance has been received and is on file

Brunquell, Michelle	Special Education Aide (6.5 hours/day) Ward Melville High School New Position Related to current employee: Yes Salary: \$14.42/hr (Step 1/Level 13) Annual Stipend: \$700 (prorated)
	Effective: August 30, 2018

Ms. Brunquell is the sister-in-law of Jamie Brunquell, a teacher at Minnesauke. Denial of clearance or conditional clearance from the Commissioner of Education shall result in immediate termination of employment. This appointment is contingent on background clearance.

Monitor/Special Education Aides

DiSanti, Laura	Special Education Aide (6.5 hours/day)
	Ward Melville High School
	New Position
	Related to current employee: Yes
	Salary: \$14.42/hr (Step 1/Level 13)
	Annual Stipend: \$700 (prorated)
	Effective: August 30, 2018

Ms. DiSanti is the sister-in-law of Susan Buscemi, a monitor at Setauket. This appointment is contingent on background clearance. Fingerprinting clearance has been received and is on file

Reyes, Chalantree	Special Education Aide (6.0 hours/day)
	Arrowhead Elementary School
	Replacing: Jennifer Kiesel (Teaching Assistant)
	Salary: \$14.42/hr (Step 1/Level 11)
	Annual Stipend: \$700 (prorated)
	Effective: August 30, 2018
	-

Fingerprinting clearance has been received and is on file

Schmidt,	Nicole
Sommar,	1 110010

Special Education Aide (6.0 hours/day) Arrowhead Elementary School Replacing: Kelly Larkin (School Monitor) Related to current employee: No Salary: \$14.42/hr (Step 1/Level 11) Annual Stipend: \$700 (prorated) Effective: August 30, 2018

Denial of clearance or conditional clearance from the Commissioner of Education shall result in immediate termination of employment.

Monitor/Special Education Aides

Zauner, Midi

Special Education Aide (6.0 hours/day) Arrowhead Elementary School Replacing: Tara Garzilli (Teaching Assistant) Related to current employee: No Salary: \$14.42/hr (Step 1/Level 11) Annual Stipend: \$700 (prorated) Effective: August 30, 2018

This appointment is contingent on background clearance. Fingerprinting clearance has been received and is on file

School-Aged Child Care (SACC)

Viscosi, Andrew

Child Care Assistant (max 25 hours/week) Arrowhead Elementary School New Position Related to current employee: Yes Salary - \$14.79 hourly (Step 1/Level 1) Effective: August 30, 2018

Mr. Viscosi is the brother of Matthew Viscosi, a Summer Recreation Counselor. Fingerprinting clearance has been received and is on file. This appointment is contingent on background clearance.

Cooper, Jenna

Child Care Assistant (max 25 hours/week) Arrowhead Elementary School New Position Related to current employee: Yes Salary - \$14.79 hourly (Step 1/Level 1) Effective: August 30, 2018

Ms. Cooper is the niece of Marie Boettcher, SACC Supervisor at Arrowhead Elementary School. Fingerprinting clearance has been received and is on file.

CHANGES OF STATUS

Clerical

Koepplin, Margaret

From: Principal Clerk Office of Human Resources To: Principal Clerk (Confidential) Office of the Assistant Superintendent for Educational Services Replacing: Teresa Bernstein (retired) Annual Salary: \$82,547 (prorated) Annual Stipend: \$5,000 (prorated) Effective: July 13, 2018

Ms. Koepplin was emergency appointed by Cheryl Pedisich, Superintendent of Schools.

Custodial

Sherlock, Frank

From: "Acting" Head Custodian (Step 12/ Level 5) To: Custodial Worker II (Step 12/Level 2) Minnesauke Elementary School Annual Salary: \$68,176 (prorated) Effective: July 23, 2018

Mr. Sherlock assumed the role of "Acting" Head Custodian at Minnesauke Elementary School due to the absence of Robert Niski. He is returning to his previous position.

Guards

Mallins, Robert	From: Guard To: In Building Security Supervisor Ward Melville High School Replacing: John O'Connor (resigned) Salary: \$20.50 hourly Annual Stipend: \$5,000 (prorated) Effective: August 23, 2018
Monitors/Special Education Aides	
Brennan, Laura	From: Special Education Aide (Step 3/Level 10) To: Special Education Aide (Step 3/Level 11) Setauket Elementary School Effective: August 30, 2018
Ferreira, Nancy	From: Special Education Aide (Step 1/Level 10) Stipend: \$700 (prorated) To: School Monitor (Step 1/Level 3) Minnesauke Elementary School Effective: August 30, 2018
Joseph, Marven	From: Special Education Aide (Step 2/Level 11) Setauket Elementary School To: Special Education Aide (Step 2/Level 13) Ward Melville High School Effective: August 30, 2018
Larkin, Kelly	From: Special Education Aide (Step 10/Level 11) Stipend: \$700 (prorated) To: School Monitor (Step 10/Level 3) Arrowhead Elementary School Effective: August 30, 2018
Maiello, AnnMarie	From: Special Education Aide (Step 4/Level 10)

	To: Special Education Aide (Step 4/Level 11) Setauket Elementary School Effective: August 30, 2018				
O'Malley, Diane	From: Special Education Aide (Step 6/Level 11) Arrowhead Elementary School To: Special Education Aide (Step 6/Level 12) Murphy Jr. High School Effective: August 30, 2018				
Panettieri, Paige	From: Special Education Aide (Step 3/Level 10) To: Special Education Aide (Step 3/Level 11) Minnesauke Elementary School Effective: August 30, 2018				
Ramos, Patricia	From: Special Education Aide (Step 3/Level 10) To: Special Education Aide (Step 3/Level 11) Setauket Elementary School Effective: August 30, 2018				
Reinhart-Fitzpatrick, Kristine	From: Special Education Aide (Step 5/Level 13) To: Special Education Aide (Step 5/Level 11) Nassakeag Elementary School Effective: August 30, 2018				
Sheikh, Rizwana	From: Special Education Aide (Step 2/Level 10) Setauket Elementary School To: Special Education Aide (Step 2/Level 13) Ward Melville High School Effective: August 30, 2018				
Swiatocha, Teresa	From: Special Education Aide (Step 1/Level 10) Setauket Elementary School To: Special Education Aide (Step 1/Level 13) Ward Melville High School Effective: August 30, 2018				
Tarquinio, Karen	From: Special Education Aide (Step 14/Level 11) To: Special Education Aide (Step 14/Level 13) Nassakeag Elementary School Effective: August 30, 2018				
School-Aged Child Care (SACC)					
Marrone, Claire	From: Assistant Supervisor (Step13/Level 12) To: "Acting" Supervisor Arrowhead Elementary School Replacing: Dawn Ihne Salary - \$27.14 hourly (Step 1/Level 3) Effective: September 1, 2018				
Ms. Marrone is assuming the role of "Acting" Supervisor due to the resignation of Dawn Ihne.					

SALARY ADJUSTMENTS

Stipends for Cook, Assistant Cooks, Lead Food Service Workers, Security Supervisor and Lead Monitors

Name	Position/Assignment	Effective	<u>Amount</u>
Wright, Amy	Cook/ Ward Melville HS	7/01/18	\$3,600 annually
Kuffner, Susan	Assistant Cook/ Ward Melville HS	7/01/18	\$2,700 annually
Layden, Sean	Assistant Cook/ Ward Melville HS	7/01/18	\$2,700 annually
Ciaravino, Nicole	Lead Food Service Worker/Murphy JHS	7/01/18	\$1,500 annually

Ford, Michelle	Lead Food Service Worker/ Gelinas JHS	7/01/18	\$1,500 annually
Geedman, Judith	Lead Food Service Worker/Mount ES	7/01/18	\$1,500 annually
Gross, Nicole	Lead Food Service Worker/Setauket ES	7/01/18	\$1,500 annually
Schoulder, Barbara	Lead Food Service Worker/Minnesauke ES	7/01/18	\$1,500 annually
Daume, Marilyn	"Acting" Lead Food Service Worker/ Arrowhead ES	7/01/18	\$1,500 annually
Wappaus, Judy	Lead Food Service Worker/Nassakeag ES	7/01/18	\$1,500 annually
Keough, Terrence	Patrol Supervisor/ District Wide	7/01/18	\$5,000 annually
Feehan, Deborah	Lead Monitor/ Nassakeag ES	7/01/18	\$2.50 hourly
Holmes, Jill	Lead Monitor/ Setauket ES	7/01/18	\$2.50 hourly
Klotz, Margaret	Lead Monitor/ Minnesauke ES	7/01/18	\$2.50 hourly
Lucido, Barbara	Lead Monitor/ Arrowhead ES	7/01/18	\$2.50 hourly
Sharkey, Donna	Lead Monitor/ Mount ES	7/01/18	\$2.50 hourly
	APPOINTMEN NON-INSTRUC SUBSTITUTE PO	TIONAL	
Clerical			
Todaro, Meryl			-\$13.00/hr. ve-8/30/18
Fingerprinting clearance	e has been received and is on	file.	
Monitors/Special Educa	tion Aides		
Baum, TaylorSalary-\$13.00/hr.Effective-8/30/18			
Human Resources. Ms.	f Mr. Alan Baum, Executive Baum is a Summer ESY en al education aide list. Finge	ployee and ask	
on me.			
Homenides, George			ury-\$13.00/hr. ective-8/30/18
Homenides, George Mr. Homenides is the so	on of Ms. Eleni Homenides, has been received and is on	Effe a district-wide	ective-8/30/18

Fingerprinting clearance has been received and is on file.

Olivieri, JoAnn

Salary-\$13.00/hr. Effective-8/30/18 Ms. Olivieri resigned effective 8/9/18 from her monitor position. Fingerprinting clearance has been received and is on file.

Trombino, Kayla	Salary-\$13.00/hr.
	Effective-8/30/18

Ms. Trombino is the daughter of Ms. Allison Babb, general education teacher at Minnesauke Elementary School and the niece of Ms. Eisenhardt, guidance counselor at Gelinas Jr. High School.

Fingerprinting clearance has been received and is on file.

Vogelsberg, Maxx

Salary-\$13.00/hr. Effective-8/30/18

Fingerprinting clearance has been received and is on file.

APPOINTMENTS OF SUMMER RECREATION STAFF

Last Name	First Name	<u>Building</u>	Position	Effective	Rate	Assignment	<u>Status</u>
Ahmedani	Annela	WMHS	Substitute Nurse	7/16/18- 8/10/18	\$50/hr	Full/Half Day	District Employee
Aprahamian	Christine	WMHS	Substitute Nurse	7/26/18- 8/10/18	\$50/hr	Full/Half Day	New Employee
Bassani	Barbara	WMHS	Substitute Nurse	7/26/18- 8/10/18	\$50/hr	Full/Half Day	New Employee
Bloom	Tracy	WMHS	Substitute Nurse	7/18/18- 8/10/18	\$50/hr	Full/Half Day	District Employee
Bove	Patricia	WMHS	Substitute Nurse	7/26/18- 8/10/18	\$50/hr	Full/Half Day	District Employee
Feldman	Nan	WMHS	Substitute Nurse	7/26/18- 8/10/18	\$50/hr	Full/Half Day	District Employee
Higgins	Maureen	WMHS	Substitute Nurse	7/23/18- 8/10/18	\$50/hr	Full/Half Day	District Employee
Sobel	Alexander	WMHS	Substitute Counselor	7/16/18- 8/10/18	\$12/hr	Full/Half Day	2018 Graduate
Timm	Janene	WMHS	Substitute Nurse	7/11/18- 8/10/18	\$50/hr	Full/Half Day	District Employee

SUMMER ESY PROGRAM APPOINTMENTS

Last Name	First Name	<u>Building</u>	Effective	<u>Title</u>	<u>Rate</u>	
Coleman	Rich	Arrowhead	7/2/18-8/10/18	Security	\$19.42/hr	
Fischer	Sean	Arrowhead	7/2/18-8/10/18	Security	\$19.42/hr	
Prudenti	Michael	Arrowhead	7/2/18-8/10/18	Security	\$19.42/hr	
Robinson	Tom	Arrowhead	7/2/18-8/10/18	Security	\$19.42/hr	
** The above employees were approved for emergency appointment by Ms. Pedisich on						
7/10/18.						
Tauby	Erin	Arrowhead	7/2/18-8/10-18	SEA	\$13.00/hr	
Тоор	Diana	Arrowhead	7/2/18-8/10-18	SEA	\$13.00/hr	
** Ms. Tauby & Ms. Toop were approved for emergency appointment by Ms. Pedisich as						

** Ms. Tauby & Ms. Toop were approved for emergency appointment by Ms. Pedisich as SEAs for the Summer ESY Program on 8/7/18.

On motion by Dr. Kerman, seconded by Ms. Ragolia, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Ms. Ragolia, seconded by Ms. Germano, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

of Committee on Special Education, Sub-Committee and Accommodation 504 Plan Meetings of: of March 20, 23, April 11, 13, 17, 19, 20, 24, 27, 30, May 1, 3, 4, 7, 8, 10, 11, 14, 15, 17, 18, 22, 23, 24, 25, 29, 30, 31, June 1, 5, 6, 7, 8, 11, 12, 13, 15, 18,

Recommendations

19, 20, 21, 26, 27, 29, July 1, 10, 12, 16, 18, 19, 23, 24, 25, 26, 30, 31, August 1, 2, 8, 10, 14, 2018

Recommendations of Committee on Preschool Special Education Meetings of: June 11, July 3, 10, 17, 25, 31, August 6, 7, 8, 10, 2018 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mr. Kornreich, seconded by Ms. Germano, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

INFORMATIONAL ITEMS OF INTEREST

There were no Informational Items of Interest.

PUBLIC PARTICIPATION

ADJOURNMENT

There was no Public Participation at this time.

There being no further business to be conducted, motion was made by Dr. Kerman, seconded by Ms. Germano, and carried by a 6-0-0 vote to adjourn the meeting at 7:45 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk